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A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet.

1- The questionnaire was intended to ---------- information on eating habits.
1) retain 2) elicit 3) survey 4) presume
2- The prime minister has called on the public to ---=-=---- behind the government.
1) rally 2) pursue 3) denote 4) underlie
3. College life opened up a whole ---------- of new experiences.
1) core 2) exposure 3y gamut 4) appreciation
4- The discovery of the new planet gave fresh -------- -- to research on life in outer space.
1) status 2) impetus 3} scheme 4) domain
5- It was ------—— of me to forget to give you the message.
1) pitfall 2) obstacle 3) remiss 4) inhibition
6- The number of old German cars still on the road ---—----- to the excellence of their
manufacture.
1) traces 2) restores 3) orients 4) attests
7- Age alone will not -- them from getting admission to this university.
1) react 2) conduct 3) distort 4) preclude
8- New technology, the main ---------- of the 1980s, has been a mixed blessing.
1) legacy 2) expansion 3) surplus 4) circumstance
9. I’m sure my university days appear happier in ------—-- than they actually were at the
time.
1) procedure 2) retrospect 3) proportion 4) approximation
10- Even a(n) -=-—--—- glance at the figures will tell you that sales are down.
1) cursory 2) marginal 3) implicit 4) sustainable

| PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or
| (4) best fits each space. Then mark the correct choice on your answer sheet.

e ———————— e e = = ——

A map 15 always smaller than the real world which it represents. The difference (11) ---------
between the map and the Earth’s surface (12) -------=—- a scale ratio. For example, the scale
ratio  1:50,000 states that one unit of measurement on the map is (13) ---------- fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) {14) -——--—— the ground.

A map at a large scale, (15) ---------- 1:10,000, will show a small area of the Earth's surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail.
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11- 1) in size 2) from sizes 3) as size 4)) for sizes
12- 1) expresses 2) 15 expressed by
3) is expressing 4) will be expressed by
13- 1) equally to 2) equal with 3) equally with 4) equal to
14-1)1n 2) over 3) on 4) under
15-1) simular 2) being like 3) such as 4) the same as

PART C: Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
| each space. Then mark the correct choice on your answer sheet. ’

PASSAGE 1:

A project manager is a professional in the field of project management. Projéct managers can
have the responsibility of the planning, execution, and closing of any project, typically relating
to construction industry, engineering, architecture, computing, or telecommunications. Many
other fields in the production engineering and design engineering and heavy industry also have
project managers.

A project manager is the person accountable for accomplishing the stated project objectives.
Key project management responsibilities include creating clear and attainable project
objectives, building the project requirements, and managing the triple constraint for projects,
which is cost, time, and scope.

A project manager is often a client representative and has to determine and implement the
exact needs of the client, based on knowledge of the firm they are representing. The ability to
adapt to the various internal procedures of the contracting party, and to form close links with
the nominated representatives, is essential in ensuring that the key issues of cost, time, guality
and above all, client satisfaction, can be realized.

16- What does the word professional in the first line refer to?

1) Person who is paid for his playing 2) Person who is paid for his physical job

3) Person who works in.manual labor 4)Person who works in a skilled occupation

17- Which responsibility is NOT mentioned in the passage among those of project managers?

1) Ending projects 2) Approving projects

3) Scheming projecis 4) Carrying out projects

18- According to the passage, a project manager is the person - for accomplishing
the project objects.

1) countable 2) chargeable 3) calculable 4) responsible

19- The term atfainable can best be replaced by --=--eccmremeeeeeen .

1) feasible 2) expedient 3) beneficial 4) worthwhile

20- What does the author mainly discoss in the second paragraph?

1) Triple Constraints 2) Project Functions  3) Client Satisfaction 4) Project Obstacles
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PASSAGE 2:

Project control is that element of a project that keeps it on-track, on-time and within budget.
Project control begins early in the project with planning and ends late in the project with posi-
implementation review, having a thorough involvement of each step in the process. Each
project should be assessed for the appropriate level of control needed: teo much control is too
much time consuming, too little control is very risky. If project control is not implemented
correctly, the cost to the business should be clarified in ierms of errors, fixes, and additional
audit fees.

Control systems are needed for cost, risk, quality, communication, time, change, procurement,
and human resources. In addition, anditors should consider how important the projects are to
the financial statements, how reliant the stakeholders are on controls, and how many controls
exist. Auditors should review the development processes and procedures for how they are
implemented. The process of development and the quality of the final product may also be
assessed if needed or requested. A business may want the auditing firm to be involved
throughout the process to catch problems earlier on so that they can be fixed more easily. An
auditor can serve as a controls consultant as part of the development team or as an independent
auditor as part of an audit.

Businesses sometimes use formal systems development processes. These help assure that
systems are developed successfully. A formal process is more effective in creating strong
controls, and auditors should review this process to confirm that it is well designed and is
followed in practice. A good formal systems development plan outlines:

21-What does the passage mainly discuss?

1) Development Processes 2) Quality of Final Products
3) Project Control Systems 4) Various Audition Systems
22- According to the passage, project control makes a project --

1) finish deficiently

2} follow a course likely to achieve the goal

3) finish prior to the scheduled plan

4) follow undesired course as far as money is concemed

23- The term thorough in line 3 can best be replaced by ---—-nmmeecncneen .

1) shallow 2) apparent 3) complete 4) superficial

24- It is explicitly mentioned in the passage that control must be --v-eeeeeeee- —

1) implemented as required 2) carried out in a radical manner

3) executed in a most strict way 4) accomplished shightly and remotely

25- What does the word procurement in line 7 refer to?

1) financial means 2) obtaining supplies

3) degree of excellence 4) exchange of information

26~ If the author is right, then auditors should consider how -- controls the
stakeholders are,

1) subject to 2) influenced by 3) addicted to  4) dependent upon

27- Which of the following is NOT true of auditing firms according to the passage?

1) They should always evaluate the process of development and the quality of the final product.
2) They might be involved threughout the control process to prevent problems earlier.

3) They should always examine the development processes for how they are implemented.

4) They might serve as a controls consultant as part of the development team.
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PASSAGE 3:

In for-profit work, management has as its primary function the satisfaction of a range of
stakeholders. This typically involves making a profit for the shareholders, creating valued
products at a reasonable cost for customers, and providing rewarding employment
opportunities for employees. In nonprofit management, add the importanee of keeping the faith
of donors. In most models of management/governance, shareholders vote for the board of
directors, and the board then hires senior management. Some organizations have experimented
with other methods such as employee-voting models of selecting or reviewing managers; but
this occurs only very rarely.

28- What does the passape mainly discuss?

1) Employee-voting Models 2) Nature of Managerial Work
3) Employment Opportunities 4) Satisfaction of Stakeholders
29- Which of the following is NOT among the duties of a for-profit management?

1} Creating valued products at reasonable cost for employees

2) Making financial gains for the shareholders

3) Providing satisfying employment chances for employees

4) Satisfying a range of stakeholders

30- It is explicitly mentioned in the passage that managers - in most models of
management.

1) keep the faith of donors 2) keep the confidence of shareholders

3) are elected by employees 4) are appointed by the board of directors
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SECTION I: Structure and Written Expression

| Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence.
| Then mark the correct choice on your answer sheet.

186- Travelers -----s-ecsemsmemmn their reservations well in advance if they want to fly during the
Christmas holidays.

1) had better get 2) had to get better  3) had better to get  4) had better got

187- According to the conditions of my scholarship, after finishing my degree, .

1) the university will employ me

2) employment will be given to me by the university
3) my education will be employed by the university
4} I will be employed by the university

188- Prices for bikes can run 25000 Tumans .

1) as high as 2) so high as 3) so high to 4) as high to

189- For the investor who has —----—smnmo- money, silver or bonds are good options.

1) so few 2) very little 3) so little a 4) very few

190- Java Man, who lived before the first Ice Age, is the first manlike animal.

1) Believed generally is 2) That it is generally believed

3) It is generally believed that 4) Generally believed it is

191- If it ==eemcsemeeceen -- more humid in the desert southwest, the hot temperatures would be
unbearable.

1) be 2) were 3) was 4) is

192- Since Elizabeth Barrett Browning's father never approved of ———--ceeee-.. - Rohert
Browning, the couple eloped to Italy where they lived and wrote.

1) her to marry 2) she marrying 3) her marrying 4) she to marry

193- Almost everyone fails ——--eeeee-o- - his driver's test on the first try.

1) to pass 2) to have passed 3} in passing 4) passing

194- Not until a monkey is several years old to exhibit signs of independence from
its mother.

1) it begins 2)does it begin 3) beginning 4) and begin

195- After the assassination attempt, the President's physician suggested that he --—---ceeeee- gy
short rest.

1) took 2) would take 3) will take 4) take

196- The Ford Theater where Lincoln was shot must -——-e---aueeee -

1) restore 2) have been restored

3) be restoring 4) restored

197- After seeing the movie centennial, ---=-==--=--=-- -,
1) the book was read by many people

2) the reading of the book interested many people
3) the book made many people want to read it

4) many people wanted to read the book

198- Most insurance agents wounld rather you ---seeeeesceeesees anything about collecting claims
until they investigate the situation.

1) do 2) didn't 3) didn't do 4) don't

199« The observation deck at the World Trade Center is any other one in Dubai.
1) higher that 2) highest than 3) higher than 4) highest that
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200- A fourteen-year-old is not to vote in an election.
1) old enough 2) enough old as 3) as old enough 4} encugh ald
201- Ancient civilizations such as Phoenicians and the Mesopotamians --—--—-—- —=ees frade
goods rather than use money.
1) used to 2) was used to 3)is used to 4) use to
202- Most Americans don't object --———=-=-==----- them by their first names.
1) that I call 2) to my calling 3) that I am call 4) for calling
203- General Grant had General Lee him at Appomattox to sign the official
surrender of the Confederate forces.
1) met 2) to meet 3) meeting 4) meet
204- All of the people participating in the conference are —-—----=-meeenu- -
1) mathematic teachers 2) mathematic's teachers
3) mathematics teachers 4) mathematics teacher
205- To generaie income, magazine publishers must decide whether to increase the subscription
price or - -= advertising.
1) sold 2) if they should sell
3) selling 4) 1o sell

| PARTB:

§ Directions: Choose the underlined word or phrase (1), (2), (3) or (4) that must be changed
in order for the sentence to be correct and mark it on your answer sheet.

206- Some methods to prevent soil erosion are plowing parallel with the slopes of halls,

(1) (2) (3)
to plant trees on unproductive land, and rotating crops.
(4)

207- John Dewey thought that children will leamn better through participating in experiences
(1 (@
rather than through listening to lectures.
(3) 4)

208- According to the graduate catalog, student housing is more cheaper than hosing off
(1) (2) (3) (4)
campus.

209- Until recently, women were forbidden by law from owning property.
(1} (2) (3) (4)

210- As every other nation, the United States used to define its unit of currency, the dollar, in
(1) (2) (3) (4)
terms of the gold standard.



£l AUNITA dsiimts poo T C (MBA 51,5 ) unlfil gl

211- The shore patrol has found the body of a man who they believe to be the missing marine
(1) (2) (3) (4)
biologist.

212- The more the relative humidity reading rises, the worst the heat affects us.

(1) (2) (3) 4)
213- The President, with his wife and son, are returning from a brief vacation at Sun Valley in

(1) (2)

order to attend a press conference this aftemoon.

3 (4)

214- Historically there has been only two major factions in the Republican Party — the liberals
(1) Z) 3 @

and the conservatives.

215- Lectures for the week of March 22-26 will include the following: The Causes of the Civil
(1) (2) (3)

War, The Economy of the South, Battle Strategies, and Assassinating Lincoln.
(4)

216- Those of us who smoke should have their lungs X-rayed regularly.
(1) (2) (3) (4)

217- Neither of the two candidates who had applied for admission to the industrial
(1) (2) (3)

Engineering Department were eligible for scholarships.
(4)

218- The bell signaling the end of the first penod rang loud, interrupting the professor’s
(1) (2) (3)
closing comments,
(4)

219- Dairying is concerned not only with the production of milk, but with the manufacture of
(L) (2) (3)

milk products such as butter and cheese.
(4)

220- Even a professional psychologist may have difficulty talking calm and logically about
(1) (2) (3)
his own problems.
(4)

i g0 v 39 40 o 51 b )5 MDY g JLS1 o9 ST
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SECTION II: Vocabulary

| Directions: Choose the word or phrase that best keeps the meaning of the original sentence |
if it is substituted for the underlined word or phrase. '

221- The disappearance of tropical rain forests is a direct result of wanton disregard of this
valuable resource by mankind.

1) sporadic 2) precarious 3) senseless 4) troubling

222- When widespread thunderstorms occur, the sky is commonly overcast with many
intermingled layers of clouds of various types.

1) sever 2) harardous 3) powerful 4} extensive

223- Politicians often woo voters by proposing sweeping reforms of governmental policy.
1) attract 2) deceive 3) convince 4) forfeit

224- Technical curricula are reguisite in a wide range of fields.
1) acquired 2) assimilated 3)demanded 4) prompted

225- Evidence concerning the origins of the native people living in the coastal areas of western
Canada is vague.

1) unclear 2) acknowledged 3) contradictory 4) abundant

226- All Cpidarians have the potential to affect human physiology owing to the foxic nature of
their nematocysis.

1) curative 2) debilitating 3) aggravating 4) poisonous

227- The power of the sun is trapped by the leaves of plants and vsed to produce food by a
process called photosynthesis.
1) converted 2} retained 3) reflected 4) perceived

228- Undergstimated tax revemues caused the severe budgef crunches that plagued local
governments during the early 1970s.
1) finite ' 2) miscalculated 3) disappointing 4) depleted

229- Since none of the polls had predicted the winner, everyone was surprised by the resulis of
the election.

1) encouraged 2) delighted 3) perturbed 4) astounded

230- Legislators are considering whether the drug laws for possession of marijuana are too
SEVELC,
1) harsh 2) covert 3) diverse 4) vague

231- Some of the gangs that terrorized Chicago in the 1920s did not have the propriety to keep

their activities off the streets.
1} ability 2) resources 3) courage 4) decency
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232- Congress was hesitant to repeal the Prohibition Act.
1) urged 2) reluctant 3) supposed 4) willing

233- A balance of international payment refers to the net result of the business which a nation
carries out with other nations in a given period.
1) cancels 2) appropriates 3) transacts 4) mediates

234- Einstein's theory of relativity seemed incredible at the time that he first introduced it.
1) unbelievable 2) famous 3} brilliant 4) complicated

235- The president is often awakened by a noisy crowd which assembles on the White House
lawn to protest his policies.

1) jocular 2) clamorous 3) capricious 4) gigantic

236- After an unhappy love affair, Emily Dickinson lived like a_person apart from society, shut
away in her family home in Amhberst, Massachuosetis.

1) a beggar 2) an invalid 3) a recluse 4} a heroine

237- The revolutionary forces had to muster up enough men to oppose the British army.
1) gather 2) convince 3) finance 4) disguise

238- The perpeiual motion of the earth as it turns on its axis creates the change of seasons.
1) ancient 2) leisurely 3) rhythmic 4) constant

239- Casey Stengel was undeniably one of the most suecessful coaches in the history of baseball.
1) likely 2) unexpectedly 3) conceivably 4} absolutely

240- Some people find tranguility when they are far away from the hustle and bustle of city life.
1) secunty 2) amusement 3) peacefulness 4) fulfillment

241- History consists of a complex weave of social, cultural, and economic forces that are not
easily unraveled.

1) condensed 2) illustrated 3) disregarded 4) separated

242- Pioneers traveling to the west found a vast treasury of natural resources.
1) a huge 2} a precious 3) an elaborate 4) a prominent

243- The volume of music contained in the archives of the American Society of Composers,

Authors, and Publishers is extraordinary.
1) sound 2) assortment 3) quantity 4) caliber

244- Davy Crockett was well known for his witticisms and storytelling skills.
1) humor 2) endurance 3) charisma 4) wisdom

245- Although jellyfish move by jet propulsion, most are weak swimmers.
1) clever 2) ineffective 3) impressive 4) superior
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| M Read the following passages and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark it on your answer sheet.

PASSAGE 1:

Mathematics uses very specific, (246) ——---=—r=mmsmerme- methods of proof that philosophers
sometimes (only rarely) try to (247) - . Most philosophy is written in ordinary
(248) , and while it strives to be precise it does not usually (249)

--- anything like mathematical clarity. As a result, mathematicians (250)
disagree about results, while philosophers of course do disagree about their results, as well as
their methods.

The philosophy of mathematics is a branch of philosophy of science; but in many ways

mathematics has a special (251) --- to philosophy. This is because the study of
logic is a(n) (252) ==ee=meemscseeee- - branch of philosophy, and mathematics is a paradigm
example of logic. In the late nineteenth and twentieth centuries logic made great (253) -—=-=eee-
-------- , and mathematics has been proven to be (234) ~—-—-—-------- to logic (at least, to
first-order logic with some set theory). The use of formal, mathematical logic in philosophy
NOW (255) —eesmemmaneaccann the use of math in science, although it is not as frequent.

246- 1) mld 2) rigorous 3) pleasant 4) filthy

247- 1) resist 2) challenge 3) emulate 4) oppose

248- 1) prose 2) wisdom 3) behavior 4) charisma

249- 1) perceive 2) comprehend 3) visnalize 4) attain

250- 1) always 2) hardly ever 3) frequently 4) for ever

251- 1) affair 2) relationship 3) capability 4) romance

252- 1) outer 2) peripheral 3} auxiliary 4) central

253- 1) refugees 2) withdrawals 3) advances 4) solitudes

254- 1) reducible 2) persuadable 3) vulnerable 4) susceptible

255- 1) differs 2) resembles 3) conflicts 4} contrasts
PASSAGE 2:

The Empiricist tradition in modern philosophy often (256) --eessesmamsmesan that religious
questions are beyond the scope of human (257) =--=-=seseeeeeceee and many have claimed that

religious language is litérally meaningless: there are not even questions to be answered. Some
philosophers have felt that these difficulties in evidence were (258) -«==cesmeeceeencee-, and have
argued for, against, or just about religious beliefs on (259) == Or other grounds.
Nonetheless, in the main stream of twentieth century philosophy there were very few
philosophers who give (260) consideration to religious questions.
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256- 1) held 2) embraced 3} carried 4) bore
257- 1) humor 2) endurance 3) knowledge 4) patience
258 1) pertinent 2) significant 3) applicable 4) irrelevant
259- 1) shame 2) misfortune 3) disgrace 4) moral
260- 1) serious 2) intimidating 3) threatening 4) ominous

SECTION III: Reading Comprehension

l Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
{ each space. Then mark the correct choice on your answer sheet. |

PASSAGE 1:

The earliest anthentic works on European alchemy are those of the English monk Roger
Bacon and the German philosopher St. Albertus Magnus. In their treatises they maintained
that gold was the perfect metal and that inferior metals such as lead and mercury were
removed by various degrees of imperfection from gpold. They further asserted that these
metals could be transmuted to gold by blending them with a substance even more perfect than
gold. This elusive substance was referred to gold as the "philosopher’s stone".

261- According to the passage, Roger Bacon and 5t. Albertus had the same -—--e—eeeeeeee-ae -.
1) nationality 2} vocation 3) premise 4} education
262- It is probable that Roger Bacon's work ——--—-—-—----,

1) was not genuine

2) contained references 1o the conversion of base metals to gold
3) disproved that of St. Albertus Mangus

4) was written after St. Albertus Mangus

263- According to alchemists, the difference between base metals and gold was one of =eeccecaeeeas,

1) weight 2) chemiecal content 3) perfection 4) temperature
264- The "philosopher's stone" was .

1) a base metal 2} an element which was never found
3) lead which was mixed with gold 4) another name for alchemy
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PASSAGE 2:

The general principles of dynamics are rules which demonstrate a relationship betweéen the
motions of bodies and the forces which produce those motions. Based in large part on the
work of his predecessors, Sir Isaac Newton deduced three laws of dynamics which he
published in 1687 in his famous Principia.

Prior to Newton, Aristotle had established that the natural state of a body was a state of rest,
and that unless a force acted upon it to maintain motion, a moving body would come to rest.
Galileo had succeeded in comrectly describing the behavior of falling ebjects and in recording
that no force was required to maintain a body in motion. He noted that the effect of force was
to change motion. Huygens recognized that a change in the direction of motion involved
acceleration, just as did a change in speed, and further, that the action of a force was required.
Kepler deduced the laws describing the motion of planets around the sun. It was primarily
from Galileo and Kepler that Newton borrowed.

265- What is the main purpose of the above passage?

1) To discredit Newton's law of motion

2) To establish Newton as the authority in the field of physics
3) To demonstrate the development of Newton's laws

4} To descnbe the motion of planets around the sun

266- Which of the following scientists established that the natural state of a body was a state of
rest?
1) Galileo 2) Aristotle 3) Newton 4) Kepler

267- Huygens stated that acceleration was reguired - --r-e-w-. :
1) only for a change in speed

2) neither for a change in direction nor for a change in speed

3) for either a change in direction or a change in speed

4} only for a change in direction

268- The first scientist to describe the behavior of falling objects correctly was -—---————comeeen .

1) Galileo 2) Kepler 3) Newton 4) Aristotle
269- According to the passage, Newton based his laws primarily upon the work of .
1) Kepler 2) Aristotle 3} Newton 4) Galileo
PASSAGE 3;

Precipitation, commonly referred to as rainfall, is a measure of the quantity of water in the
form of either rain, hail, or snow which reaches the ground. The average annual precipitation
over the whole of the United States is thirty-six inches. It should be understood however, that
a_foot of snow is not equal to a foot of precipitation. A general formula for computing the
precipitation of snowfall is that thirty-eight inches of snow are equal to one inch of
precipitation. In New York State, for example, seventy-six inches of snow in one year would
be recorded as only two inches of precipitation. Forty inches of rain would be recorded as
forty inches of precipitation. The total annual precipitation would be recorded as forty-two
inches.
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270- The word precipifation Includes -=-=-se==seee=- -
1) only rainfall 2) rain, snow, and humidity
3) rain, hail, and humidity 4) rain, hail, and snow
271- What is the average annual rainfall in inches in the United States?
1) Forty inches 2) Thirty-eight inches
3) Thirty-six inches 4) Forty-two inches

272- I a state has 152 inches of snow in a year, by how much does this increase the annual
precipitation?

1) By two feet 2) By 152 inches 3) By four inches 4) By four feet
273- The word precipitation can be often replaced by -

1) humidity 2) rainfall 3) wetness 4) rain-snow
PASSAGE 4:

Courses with the numbers 800 or above are open only to graduate students. Certain courses,
generally those devoted to introductory material, are nombered 400 for undergraduvate
students and 600 for graduate students. Courses designed for students secking a professional
degree camry a 500 number for undergraduate students and a 700 number for graduate
students.

A full-time graduate student is expected to take courses which total ten to sixteen credit hours.
Students holding assistantships are expected to enroll for proportionately fewer hours. A part-
time graduate student must register for a minimum of five credit hours.

274- In order to be eligible to enroll in Mechanical Engineering 850, a student must be --------- -—
student.

1) a full-time 2) an undergraduate 3) a graduate 4) a part-time

275- If an nndergraduate stndent uses the number 520 to register for an accounting course, what
number would a graduate student probably use to register for the same course?

1) Accounting 820 2} Accounting 520 3) Accounting 620  4) Accounting 720
276- A student who registers for eight credit hours is a student.
1) part-time 2} full time 3) graduate 4) non-degree

277- A graduate student may NOT -
1) enroll in an intreductory course
2) register for courses if he has an assistantship
3) register for only one three-hour course

4} enrollin a course numbered 610
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PASSAGE 5:

Although nearly five hundred species of Acacia have been identified, only about a dozen of
the three hundred Australian varieties grow well in the southern United States, and of these,
only three are flowering. The Bailey Acacia has fernlike silver leaves and small, fragrant
flowers arranged in rounded clusters. The Silver Wattle, although very similar to the Bailey
Acacia, grows twice as high. The Sydney Golden Waitle is squat and bushy with broad, flat
leaves. Another variety, the Black Acacia or Blackwood, has dark green leaves and
unobtrusive blossoms. Besides being a popular tree for ornamental purposes, the Black Acacia
is valuable for its dark wood which is used in making cabinets and furniture.

278- Which of the following Acacias has the least colorful blossoms?

1} Sydney Golden Wattle 2) Black Acacia

3} Silver Watile 4) Bailey Acacia

279- According to the passage, the Silver Wattle --vemmmmseeen oo,

1) is squat and bushy 2} is taller than the Bailey Acacia
3} is used for making fumiture 4) has unobtrusive blossoms
280- How many species of Acacia grow well in the southern United States?

1) Three 2) Three hundred 3y Five hundred 4) Twelve
281- Which of the following would most probably be made from a Black Acacia tree?

1) A pie 2) A flower arrangement

1) A table 4) Paper

PASSAGE 6:

In 1807 Noah Webster began his greatest work, .dn American Dictionary of the English
Language. In preparing the manuscript, he devoted ten years to the study of English and its
relationship to other languages, and seven more years to the writing itself. Published in two
volumes in 1828, dn dAmerican Dictionary of the English Language has become the
recognized authority for usage in the United States. Webster's purpose in writing it was to
demonstrate that the American language was developing distinct meanings, pronunciations,
and spellings from those of British English. He is responsible for advancing simplified
spelling forms: develop instead of the British form develope; theater and center instead of
theatre and centre,; color and honor instead of colour and honour.

282- When was An American Dictionary of the English language published?
1) 1828 2) 1807 3) 1817 4) 1824

283- According to the passage, which of the following spellings, would Webster have approved in
his dictionaries?
1) Color 2) Theatre 3) Develope 4) Honour
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1) respond to the need for new schmihmka

2) demonstrate the distinct development of the English language in America
3) influence the pronunciation of the English language .
4) promote spelling forms based upon British models -

285- Webster's work was published in volumes.
1) one 2) four 3) three
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